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Statement

The product of 5 and 10 has 0 ones.

True

False

The product of 5 and 10 has 2 zeros.

The product of 55 and 10 has 5 hundreds and 5 tens.

The product of 55 and 100 has 3 zeros.
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I Do: 
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Statement
The product of 60 and 10 has 3 zeros.

The product of 66 and 10 has 6 hundreds and 6 tens.

The product of 6 and 10 has 1 zero
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The product of 66 and 100 has 2 zeros.




We Do: 
I Do: 

Consider the place values in the numbers 146 and 14,600. Select the statement below that explains how the numbers 146 and 14,600 are different with respect to place value. 

A. 14,600 is 10 times as large as 146.

B. 14,600 is 100 times as large as 146.

C. 14,600 is 1,000 times as large as 146.

D. 14,600 is 10,000 times as large as 146.
We Do:
Consider the place values in the numbers 322 and 322,000. Select the statement below that explains how the numbers 322 and 322,000 are different with respect to place value. 

A. 322,000 is 10 times as large as 322.

B. 322,000 is 100 times as large as 322.

C. 322,000 is 1,000 times as large as 322.

D. 322,000 is 10,000 times as large as 322.
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I Do: The value of the digit 9 in the number 79,658 is 10 times the value of the digit 9 in which number listed below?
A. 98,215
B. 36,947

C. 192

D. 9
We Do: The value of the digit 6 in the number 64,953 is 10 times the value of the digit 6 in which number listed below?
A. 56,831

B. 269,834

C. 634,908

D. 510,600

I Do: Select the options that correctly complete the sentence. In the number 388,652, the digit 8 in the ten thousands place is 
	[image: image3.png]Color by Number

1. Color the number that is 10 times the value of the
number 4 red.

2. Color the number that is 10,000 times the value of
the number 4 blue.

3. Color the number that is 100 times the value of the
number 4 green

4. Color the number that is 10 times the value of the
‘number 67 yellow.

5. Color the number that is 1,000 times the value of
the number 67 orange.

4,000 58 400 673
90 670 26 3,700

9,000 4 5,800 | 67,003
40 37 6,700 | 260,000
14 000 2 40,000
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Times 

                                                                          The digit 8 in the thousands place. 

We Do: Select the options that correctly complete the sentence. In the number 634,023 the digit 3 in the ten thousands place is 

	100



	1,000

	10,000


	less than



	greater than


Times 

The digit 3 in the ones place.
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1. Select the options that correctly complete the sentence. In the number 269,390 the digit 9 in the tens place is   
                    times         the digit 9 in the tens place. (NBT1 Testlet #19)
2. The value of the digit 6 in the number 57,164 is 10 times the value of the digit 7 in which number listed below?

A. 567,831

B. 2,769,834

C. 674,908

D. 510,760
3. Determine whether each statement is true or false. Select one bubble in each row. 

	Statements
	True
	False

	1. The product of 60 and 10 has 1 zeros.
	
	

	2. The product of 93 and 100 has 9 hundreds and 3 tens.
	
	

	3. The product of 106 and 100 has 3 zeros.   
	
	

	4. The product of 610 and 10 has 1 thousand 6 hundreds and 0 tens.  
	
	


4. Consider the place values in the numbers 78 and 78,000. Select the statement below that explains how the numbers 78 and 78,000 are different with respect to place value. 

A. 78,000 is 10 times as large as 78.

B. 78,000 is 10,000 times as large as 78.
C. 78,000 is 100 times as large as 78.

D. 78,000 is 1,000 times as large as 78.
5. Miss Dawkins has 493 pieces of candy. Ms. Hunt has 10 times as many pieces of candy as Miss Dawkins. How many pieces of candy does Ms. Hunt have?

A. 49

B. 934

C. 4,930

D. 587
6. Select the options that correctly complete the sentence. In the number 634,548 the digit 4 in the thousands place is 

	100



	1,000

	10,000

	less than



	greater than


Times 

the digit 4 in the tens place.   (NBT.1, Testlet #19)
7. The value of the digit 6 in the number 85,563 is 10 times the value of the digit 6 in which number listed below? (NBT. 1, Practice #13)
A. 56,831

B. 269,834

C. 634,908

D. 510,600
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1. The value of the digit 3 in the number 16,532 is 10 times the value of the digit 3 in which number listed below?

A. 93,215

B. 36,947

C. 138
D. 3
	Statements
	True
	False

	1. The product of 90 and 100 has 3 zeros.
	
	

	2. The product of 97 and 100 has 9 tens and 7 ones.
	
	

	3. The product of 106 and 100 has 3 zeros.   
	
	

	2. The product of 97 and 100 has 9 thousands and 7 hundreds.
	
	


2. The town of Litman has a population of 685 people. Champaign has 10 times the number of people in Litman. How many people live in Champaign?

A. 695

B. 6,805

C. 6,850

D. 68,500
3. Consider the place values in the numbers 510 and 51,000.    Select the statement below that explains how the numbers 510 and 51,000 are different with respect to place value. 

A. 51,000 is 10 times as large as 510.

B. 51,000 is 10,000 times as large as 510.
C. 51,000 is 100 times as large as 510.
D. 51,000 is 1,000 times as large as 510.
	100



	1,000

	10,000
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4. Select the options that correctly complete the sentence. In the number 59,974 the digit 9 in the hundreds place is 

                                                                Times 

                                                                                                    the digit 9 in the thousands place.
5. The value of the digit 3 in the number 653,004 is 10 times the value of the digit 3 in which number listed below?

A. 93,215

B. 36,947

C. 138
D. 300,000
	Statements
	True
	False

	1. The product of 57 and 100 has 3 zeros.
	
	

	2. The product of 45 and 100 has 5 tens and 0 ones.
	
	

	3. The product of 603 and 100 has 4 zeros.   
	
	

	2. The product of 41 and 100 has 4 thousands and 7 hundreds.
	
	


6. The town of Wilton has a population of 569 people. Plainville has 10 times the number of people in Wilton. How many people live in Plainville?

A. 596

B. 5,690

C. 5,960

D. 56,900

7. Consider the place values in the numbers 820 and 820,000. Select the statement below that explains how the numbers 820 and 82,000 are different with respect to place value. 

A. 820,000 is 10 times as large as 820.

B. 820,000 is 10,000 times as large as 820.
C. 820,000 is 100 times as large as 820.
D. 820,000 is 1,000 times as large as 820.
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Select the options that correctly complete the sentence. In the number 35,362 the digit 3 in the ten thousands place is                                                   times                                    the digit 3 in the hundreds place.

